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[A]

{1 -1/ PART -1
91« {9 9 fArneme / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1. 4 AR SR a9 AR &l e
w7 § gAE A, F[/ECT & AR W
AN iR BT OM GERAT R e
(game) &G W AR & S
TIMIIROT el 2 ¢
(1) FHEER (2) SATIHD
(3) WA (4) fewd

2. [qog # JeTane 6T STRH @l
yaiad Xl B, S @ T BRE
e ©
(1) fafYy fosm= w7 &

(2) QISR 987 9§
(3) FHH 9 |
(4) ANasTE T
3. fr=ffea & @ dm- Ao el 3
g Mg d R &A% g
SUYHT TeT & 7
(1) foenfoat & yewmicrs aaan
(2) FEfaH-f9ea qHEe & GHEE &
T s SEER &

(3) @D b GEHET GEIEN H A
& Giferd HE

(4) foeni¥ 1 TR TEEE H 6
I R o | = B | A
(Srarer) B

4. e gl H T B B IR 96
@ ¥ i 98 39 919 H X e
T % aa oiR IE% WRaR & A
FT 3| T8 el FaeT @

(1) %ad STIH ST A

(2) %ad S AR FH

(3) oTaRe SR e | TpR B SRR &
(4) I q TR SR T & ST SARBROT F
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1. Positive facilitation of present learning
through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1) Vertical (2) Sequential
(3) Lateral (4) Bilateral
2. The democratic organisation of school
influence learning, this factor of
learning is related to :
(1) Methodological aspect
(2) Social aspect
(3) Physiological aspect
(4) Psychological aspect
3. Which of the following is not an
appropriate strategy for improving
students problem solving ?
(1) Functional fixedness of students
(2) Give extensive opportunities to
solve real-world problems
(3) Involve parents in children's
problem solving
(4) Monitor students effective and
ineffective problem solving
strategies
4. Rohan is reading a latest Bahubali comic
book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of :
(1) Only intrinsic motivation
(2) Only extrinsic motivation
(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation

P.T.O.
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Hiepios JanE (FE) 8 S99 & g

freifoie & & -6 T STl b

e B ?

(1) fafy= faftal @1 Swam feenfR &
M & T B

(2) TH W AFDHHT TUE0T H ST

HET

(3) AHESI fAR=eT @l AR
% BT T

(4) ST B LW P [T GEHTA B
ST § S

Heaa] & Har ¥ 5 & W Afas
o 9@ AMel UX omuiRa e B
ST GX SR il & °

(1) E-S=eH &R

(2) T &Y

(3) 99T Y= &N

(4) ST Siqaateds WY

fF e fha UWEr dOe 9
HOM T GHEST H GHIEN BT 39
ff gifad &ear &1 39 e # foww
& I Bl &

(1) SATgefmEp

(Z)Err{ﬁ $ % AgHdl

3) T X S8 AR
(4) gaqar (FReaan) s™

frfofaa & @ @S- Ao fenffat &
FiivTh  (STeleIorh) fawm @i &
Wﬁﬂ%ﬁﬁﬂ@@ﬁ)ﬁaﬂéﬁ%?
) A (Sgfshedl) TR S
mﬁa%g; ¥ weayt Wl Rk
P PG TG BT BE A
(3) fRE ® W TER B TR
HH H a1 BEA I ST qed
gﬁ?ﬁﬁﬁﬁﬂi’rmﬁraﬁng

(4)%@&?&%3}16@%@?5@6
& 6 ‘A M
HeMaY Y91 47 B B gHES
7T GUST FHifoTT
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[4]

Which of the following is a good

assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of
methods

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid using  portfolio  for
assessment purposes

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(1) Heredity

(2) Environment

(3) Early-later experience

(4) Continuity

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute



10.

11.

12.

13.

AR, e @ue ®
ﬁssﬁrmﬁﬁm%wﬁ-@ﬂﬁ@ﬁ:r@
ST H I HAF F © 7

(1) TR (T5aH) Hae

(2) YBAM IuAley

(3) YBaM fqas=H

(4) TEEM ArEE-FEY (BREIR)

RN fenfial & a9 # #Rd g Th

AeHOE & U gaite SugE FM

T B

(1) feenfiEl § ol &3 & [T e

() & guE FX e @
qReheaHIeT HLEMT

(3) NIl I FHHA Gk H I
T&N B

(4) Th FH TA GHA YAl IS Hl
I/ HET

J 9% A e F AW S &

3fte feorar B &

(1) 20/70 & 20/200

(2) Y MaR® o6l & | 20720 3fe

(3) A9 FaR® a6l & 9y 6/6 gfte

(4) 20/10 & 20/30
arftrmear (1R i T
mw%awﬁﬁﬁ
sl @t derdr | SNl gHe @ ffia

FE B U Teded B 8, 98 ® ¢
(1) Sradt TfrFm

(2) AFERIT oFast TferTy

(3) e e SAfF™

(4) YT SR ST

g% b AU, 99 T8 [BHl B W
Piad TE @ U, SAY fRAT
g, g Ml @ qXaE el wear @
iR ol B A9 WA & 9™
IFIIYFTT Sie T o/ B, g ¥

(1) FEEM AT FAlHhI R &
(2) WE STrTEal (TN ) &
(3) HAFfEH Hadl &

4) FiT qoE F

Level-3/4319

[5]

10.

11.

12.

13.

[A]
According to Erikson, in complex
societies teenagers experience which of
the following state ?
(1) Identity crisis
(2) Identity achievement
(3) Identity moratorium
(4) Identity foreclosure

Most suitable strategy for a teacher,
when he/she is working with adolescent
students is to :

)
2

Ask students to make comparisons

Propose a problem and invite

students to form hypothesis

Give children
ordering operations

3)

experience  in

“4)

Children considered as low vision who

Construct an inclined plane or a hill

have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

(4) 20/10to 20/30

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

P.T.O.
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14.

15

16.

17.

18.

THR wErEgd © N TRR Ak
areres ffforars Riera & avafeea ¥ |

(1) R (2) AW

(3) T (4) TGN

1o - KOG o Y | 4791 G I et e G
YR, feEmrfi & wRER, @t @R
foemg onfe Su® A & gead Hd
g X 3 gy Eq ® -

() F@ T q (2 gEaA |
@) TITHA @) IJFTH A

AT ® IAN, FE B
i S e ST @ Y S8
W We oMY s g
el § BT €9 8, Heat
(1) SHfET

(2) 3T AfRAT~TSaT

(3) FRivE qewfa

(4) ST fa@E &=

et & orfeR, Frfafad & @ @e-a
fuar sl & Nueie  fhaTs
e Tl 7@ e ?

(1) INREHTHD- TS TebT
(2) STEIMETEl qE

(3) T+ T

(4) ST b

Ted & gha TOEr S§ SfEd iR
q ofF gRE @ el 8| e
Yes, aaql, g [ R faee &
Is oafis I (FH) 21 SE M B
IT FH I X AW P TG 2 |
A H GO ©
(1) fEacgfern
(3) feaafrm

a8
oA &
et @
o

afea
ITD

(2) feaanithar
4) feonfam
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15.

16.

17.

18.

is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(1) Skinner
(3) Piaget
According to

(2) Seigler

(4) Bandura
Bronfenbrenner's

Ecological Theory,

peers and school etc. influence his/her
development and they belong to the :

student's family,

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding
(2) Inter subjectivity
(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia

(3) Dyslexia (4) Dysphasis



19.

20.

21,

22,

frfafeg & @ f9-91 g9 foeniiat @

M WM W fgde dW H i

g R ?

(1) W& Sad § o9 fe &
HaiTeF FEE@q © 7

(2) ST S S ® 68 TeR Eied
H HqHA B 7

(3) oY o8 YT U A o 4 W
T & ?

(4) oMY S TR Jea¥ STedalics g
ST T B 7

gfeenanell St & fog et § @

BT FFHT SUGHRT 78] ©

(1) fafare e

(2) SUARHS freror

(3) @R (TiEs)

(4) AWM Fel § G

R & TJeaal aif e STeR

amedl olR oTEfye T P B B

T B PR B TE SR e

frepR eaa ®

(1) TARRET Farer

(2) SrEEA-TEERG e (SRt
FHrfeda =)

frfofed & & PH-T1 FF TR0 9= B
el SUgHRT €9 § U He © 7

(1) 99 omWEwedm da« I«@w @
fafare foemeat & farem 3

() Y omEwEN d« TR @
foemerat & fafare e & fRrew 3

(3) faRIY STasFedr i SIehl Sl A
Fe H STy @Ry fvem &

(4) A9 ETHAT W TED B
A e § Qe R A
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19.

20.

21,

22,

[A]

Which of the following question is most
likely to get students to reflect on their
purpose ?

(1) What is most important to you in
your life ?

2
3)

How can you organise your life ?
What can you do to get good
grades ?

(4) How can you set better short term
goal ?

Which of the following programme is
not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom
setting

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(1) Anorexia Nervosa
(2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most

appropriately defines the term inclusion ?

(1) Educating children with special
needs in special school

(2) Educating children with special
needs in special classroom of
school

(3) Educating children with special
needs most of the time in regular
class

Educating children with special
needs full time in the regular

classroom

“)

P.T.O.
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23.

24.

25.

26.

27.

Wﬁ%aﬁﬁﬁwﬁ@aﬁﬁ
97 7E e ?

(2) GAT W9 @ W | 2

(3)?maﬁﬁmmaﬁ
|

(4) dam W R emEre
Rr-fe ot foe e B

Sg foEmdl ofrm vy & o

et 36 THeM & S SUNH @

SEN #d & FE oW A

frfafeg & @ @9-T@ 2 ?

(1) FEelis Ao (2) STRM el

(3) "9 ¥ (4) T A

56 U Sl AYa @ S gEd W

JaTg BIE 3, Hea § ¢

(1) TS & 6T

(2) T P AR (BH)

(3) AT & HqRD &9

(4) T B TGHH (HRwHH)

STFM F g8 oEe Red T 9 offis

et T gEl @ ORA iR Sited &

g, Fedr © :

(1) & (<) farerer

(2) AR AR

(3) TEar SIfEm

(4) ST SFEH

frfafag & @ B9-a1 HI Ib A

3 freril & X TR ?

(1) fopre & ffed ok g Srgit
T § B 2|

(2) vt & o GFE ¥ '\E e
g

3) fowm omgERE SR amEReT @
SR (afRem) B

4) fTFE T & e W ad
T & |
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23.

24,

25.

26.

27.

Which of the following statement is

correct about the nature of emotions ?

(1) Emotional expressions
modified by learning.

(2) Emotions are permanent state of

the organism.

are

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style
Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching

(2) Programmed instruction

(3) Cooperative learning

(4) Discovery learning

Which of the following statement is
incorrect about the principles of child
development ?

(1) Development follows a definite and
predictable pattern.

All individuals are similar in their
development.

Development is  product  of

hereditary and environment.

2)
3)

“) the

Development  works  on
principle of integration.



28.

29.

30.

MER & AR, FA0 & g (v
@I AREROTET &R W& F Teame Ak

SUGRT STIFRAT B & AR FHEdAN ©

(1) wte gfe

2) few-Tioaa® e
(afecti-areaedfes i)

(3) Siddarr® g

(4) SiTEaR g

s & ogaR, A} @ s
AN URRgE @ @ o Qe
HYA & Th B GAHT B B A
R

(1) TS foar

(2) gifsifea Fepy (HepAelE STHM)
(3) WG AFRE

(4) fae=mEe
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(1) To FHo TRE

(2) %o Flo TA®

(3) Mo Yo 3™

(4) TIo GRTEA

[9]

28.

29.

30.

[A]
According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as :
(1) Linguistic intelligence
(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
without  referring to
circumstances is :

real-world

(1) Propositional thought
(2) Transitive inference
(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically" ?

(I) A.T. Jersild
(2) E. B. Hurlock
(3) L P.Davis
(4) H. Sorenson

Level-3/4319

P.T.O.
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(1) wgr

(2) g

(3) TAGAD

(4) s

diy-fese wd - @ gfe @

ST ehed AT

(1) g + @ = 9

(2) T + T = T

(3) UR + FHd = IR

(4) T + AR = TEIK
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(2) =y

(3) e
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(1) SRt

(2) ST

(3) V=B

(4) TEBRI
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35. ‘TS H Afeaw aEe Ui e
qE0E W@ - 39 9 ° ggE Qe
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(1) FiRed degmEmEs Lo
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45.

[A]
3) % &4 % s o el O
= P STETHAT ol TS & I%
‘gt e R Fed © |
4) o, TN @GN TEE T
Tt fRaTe Bt ¥ |

it gftc § g I8 &l =G BT
(1) 3=
(2) RS
(3) offess
(4) et

Tir-foare @ sfe @ o FA W

gifeg

(1) %I, i, TR ST 08 ¢ |

2) ‘AT foprReE o B A9 S
gl

(3) G, HaW T§ favErs |l
gt # fofr @t gfte & fer 2 B

4) B, ¥, A9 oy =
AT STE & arad UE 2 |

et & ‘oifees’ avt -1 & ?
1 3 2) @

3 X 4) @
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[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.

(4) He is saying congratulations.

Fill in the blank with the correct

preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4319

49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."
(1) breeze (2) sea
(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object



53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[13]

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge

improves

reading

your

Which of the options given below is the

correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a
balanced philosophy of life.

(4) A balanced philosophy of life was
presented by the Bhagvad Gita.
Identify the compound word from the
options given below :

(1) Development
(2) Newspaper
(3) Powerful

(4) Childhood

Level-3/4319
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[A]

[14]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A QRTAT, dliche SARTEHT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

3 dSH H o|d MF 16 I T AR
I Y B AU 4 : 57 &, A
94 BIC T8 Hl g Fer & 7

(1) 8 a8 ) 9 a9

(3) 12 a9 4) 16 a9

fordl alien & 60% feemdl s # e
70% TR # I gY, A 20% fereed
ae fowai W® & q° 2500
foemet T ool & oot @ @, @ &
qheniEl i He e § 7
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A BATRIILIAEHCAND,E TR
ZTIEEARCE A R AN C, B A
ger %, @ W H @ dm-a &N
MATE &4 ¥ gF e ?

(1) A,C g8l (2)C,D d sgI 81
(3) D,C § 981 81 (4)E, B § e 2|

TH T P Eel dae @t 81 A R B
F ag F X offed B1 A & T& &R Y
BIAZ o B T wah Wik B 7
(1) @@ W (2) W

(3) | (4) 9B
BAXC&H 9 ABICEH A D B
A% E B @ frafefeg & §
H-TT 7FF B ERT 7

() E& g B Bl

(2) B & @1 E 81

(3) D 1 9 E B

4 D& T A 3|
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61.

62.

63.

64.

65.

The average age of three boys is 16 years
and the ratio of their ages is4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily true ?

(I) AiseldertoC (2) CiseldertoD
(3) DiseldertoC (4) Eiselderto B
Bottom surface of a cube is empty. X is
marked between A and B. Y marked on

the left of A. Then Z marked on which
surface of cube ?

(1) bottom side (2) up side

(3) infrontside (4) in back side

A is the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) E is father of B.

(3) Eis husband of D.

(4) Aissonof D.



66

67.

68.

69.

70.

71.

72.

. STl auigrer H fRAw ofe & &g
yfafers srafRafad w©a 2 ?
(1) 8 2) 9
3) 12 “4) 11
=1 9o & 7 ag A SIRE
1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R
Ry W fymdl § ¥ §97 B ¢
1) 171 () 131
(3) 161 4) 181
frrifoiiea o=t & =y § U U o
% AR fofem :
i.  Critical ii. Criterion
iii.  Crisis iv. Crisp

(2) i, iii, iv, ii
@) iv, iii, i, ii

(1) iii, iv, ii, i
(3) iii, iv, i, ii
i AN U H fquda w9 § forg
fer o, o s ok @ 199 SR &
Tt X 84T 18 HIF-A1 BN ?

() T (2) P

3) Q 4) R

g 'PROPERTY' ¥ e} & U@ fvem
W 2, s 7 § 991 S @ o @
R & o7 9 el avEer § 39

H9 D AA F A & 7

(1 0 @) 1

(3) 4 “4) 3

q AR AT B IAHA I B
SFE-AMY @8 9| A’ A H WBE A
F I I TS W B, A T B H
T fpa fesm & ® ?

(1) &Rt (2) JW

3) w 4) =™
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66.

67.

68.

69.

70.

71.

72.

[A]

In English alphabet, how many letters
are unchanged in mirror image ?

(H 8 2) 9
3) 12 @) 11

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

Find the Odd one out from given
options :
(1) 171
(3) 161

(2) 131
4) 181

Write the following words in the order
given in the dictionary :
1. Critical ii. Criterion

iii.  Crisis iv. Crisp
(2) 1,iii, iv, ii

) iv, iii, i, ii

(1) 1, iv, 1,1
(3) iii, iv, 1,1l
If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
1 T 2) P

3 Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1

3) 4 4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

P.T.O.



[A]

73.

74.

75.

76.

77.

78.

79.

Q%mﬁmm%aﬁ%aiﬁrdww
15% &1 91 1 &, 98 U9 d1d W
ST qed & e A ged Sfehd
fF 38 19% @9 & ?

(1) 34% (2) 40%

(3) 25% 4) 30%

oig a¥ ueEr, Rar @ oy 9Es g &
g H R S 9w 9w gE, R @
Y I G H oMY A 7 T A R
F KA Y S

(1) 40 a9 (2) 30 a9

(3) 50 ad¥ 4) 45 a9

A 6 TN % foobg g, 8 TN & WA

gm%w%,a?mﬁ/aﬁqﬁmaﬁ
(1) 25% @4
(3) 33%% B\

o 2x+7_3x+11:2x+8_5 s‘r, ?‘ﬁ

(2) 25% &=
(4) 33%% @9

5 2 3
x=7?
(O 1 2) -1
3) 2 4 =2

T%H JA9 H THYCE SFABA 264 THET
T qUT SEAN 924 THIeR B | T A
F TH HAE § FT SIIC BT 7

(1) 7:6 2) 6:7

(3) 3:7 @) 7:3

ThYE S | -6 G | 9 B
o ¥ 650 o T 2 qAY & oG H
676 To & SR ?

(1) 52059 (2) 572591

(3) 600 T4 (4) 625599

s I TERE 9 B TH @Y & W 2
¥ & fou SER fear &, AR &N B W
1% ot % Bl Al 399 240 51
s oM &l | ¥8 o9 o B 7

(1) 5,000 %o (2) 6,000 Fo

(3) 8,000 Fo (4) 12,000 o
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[16]

73.

74.

75.

76.

77.

78.

79.

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
3) 25% 4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years (2) 30 years

(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
(1) 25% profit
3) 33%% loss
2x+7 3x+11_2x+8

(2) 25% loss
(4) 33%% profit

If 5, then
5 2 3

x=7?

1 2) -1

3) 2 4 -2

The curved surface area of a cylinder is

264 m” and its volume is 924 m3, then
what is the ratio between its diameter

and height ?
(1) 7:6 (2) 6:7
3) 3:7 4 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs.572

(3) Rs. 600 (4) Rs. 625

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000



80.

81.

82.

83.

84.

125 HieX T WS 60 Bl afer goa
Pl = § TR T G B 30 Faos |
IR FX S 2 | G H qs e o ?

(1) 375 Hiex (2) 225 WX
(3) 125 #Hiex (4) 250 HeX
forem, e ToT0 e oTaRed ®
(1) & (2) fER
(3) e (4) fsTe

qerEsl & & O oY & MR W
harn & Frefafed  gemtdl @
S (vaitues orfy qdve) w9 §
FaRIT BT :

(i) 9o QT

(i) S

(iii) g Rie gger

(iv) 34 dr

HF?QQ?I gﬁn :

(1) (@), (i), (iii), (iv)

(2) G, (@), (i), @[1v)

(3) (), (i), (v), (iii)

4) (1), (v), (ii1), (1)

Rre o gera: o e @ Rife ®

(1) fEam (2) F==)

(3) famit (4) Ueas

I Iq P IR H oTOifcied O W

o FiTT

(a) ST <A U9TE fae |/ @ Sureme
ff |

(b) ST BRI H T AT, I BN
frer @ @1 Srey A T

SWE ¥ ¥ B9-a1/H9-8 & g8

2R 7

(1) %3 (a) T &

(2) Fad (b) T 2

(B) A (@ MTE (b) T

(4) (a) T (b) I T &
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80.

81.

82.

83.

84.

[A]

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter
(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is

situated :

(1) Hansi (2) Hisar

(3) Panchkula (4) Ambala

On the basis of extent of the period as

Chief Minister, arrange the following

Chief Ministers of Haryana in

descending order (longest serving first) :

(i) Bhajan Lal

(i1) Bansi Lal

(i11) Bhupinder Singh Hooda

(iv) Devi Lal

Choose the correct code :

(1) (@), (), (i), (iv)

(2) (@), (@), (iid), @iv)

(3) (), (1), (iv), (iii)

(4) (1), (iv), (i11), (1)

The district, which is mainly irrigated

by Jui Canal :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Consider the following statements about

Shanno Devi :

(a) Shanno Devi
Speaker
Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/

statements is/are frue ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

was the Deputy
of Punjab Legislative

P.T.O.



[A]

85.

86.

87.

88.

89.

90.

‘G RY TARR-TT H GUEEH BN

g ?
(1) g (2) gl ;)
(4) 9 A

(3) Bl ™
3R WO TESE 4 % aR A
Jrefaiead HeH W =R ST -

(a) T FHISA-TMREE-Ioad TrsE d
off e 21

(b)%ﬂﬂ%@fﬁaﬁzooﬁﬁo@faﬁzﬁ
|
SR & Q@ B9-91 HI 78 /8 -

(1) %ad (a) 9 8

(2) 3a9 (b) I 2

B) Fdq (@ MRTE (b) T2
(4) (a) 3T (b) AT 9 &

qReve] o efaiad ® 9 e e §
T e & ?

(1) HEa (2) GHd
3) ®HEA (4) S
AT F [T IW T
(1) Gua (2) el
(3) ST (4) -9

LIRS AT BRI Aef-2018 |
frfafeg § @ B9-a1 gewrl T a1 ?

(1) (2) wF

(3) FoMPpEE  (4) TR
frfofag § & B0 B9 &1 SHeen
T T99 F § 7
(1) BT

(3) #o=X

(2)
(4) Hard
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85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal
Consider the following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

ey
2)
3)
“)
The Markanda river does not flow in
which of the following district ?

(1) Kurushetra  (2) Sonipat

only (a) is true

only (b) is true

neither (a) nor (b) is true
both (a) and (b) are true

(3) Karnal (4) Ambala
The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France

(4) Kyrgyzstan
Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) Mewat
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[A]

AT - IV / PART = IV

gifig / musIC

@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

ﬁowﬁﬂémﬁﬁﬂw%I

(1) BreefF
(2) Ml

(3) dz=d
(4) e T

SRR w SR Y el S
g7

(1) AT

(2) %S TR

(3) e yAE

4) % fie

DUl TF GG ACF FHREH B HE

e TE 2 7

(1) STEmeT &l & - YL

(2) |EAT &= - AR

(3) FY% = - T el

(4) SErEY A 8@ HOYR oAb
- I

G e SThEH & T a9 ®

(1) 1949
(3) 1957

(2) 1953
4) 1962
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91.

92.

93.

94.

The Raga created by Pt. Kumar
Gandharva is :

(1) Priyadarshini

(2) Malwati

(3) Chandranandan

(4) Nat Bihag

Who is called the Magician of 'Na Dhin
Dhin Na' ?

(1) Anokhelal

(2) Kanthe Maharaj

(3) Ayodhya Prasad

(4) Kudau Singh

Which one is not a constituent unit of
‘Sangeet Natak Academy' ?

(1) Jawahar Kala Kendra — Jaipur

(2) Sattriya Kendra — Guwahati

(3) Kathak Kendra — New Delhi

(4) Jawahar Lal Nehru Manipur Dance

Academy — Imphal

Sangeet ~ Natak  Academy  was

established in :
(1) 1949
(3) 1957

(2) 1953
4) 1962

P.T.O.



[A]

95.

96.

97.

98.

99.

aEmett % ded A H AWl & @& A
2 ?
(1) qifte, 2iqep, EUHeT, Faud

(2) U, fte, EUHS], TaUd

(3) TUwEI, e, Tau, U

(4) U, ®UHS], HYH, 9t

‘Sreg-dyel’ sfer @ wr 7@ ¥
(1) aEEd

(2) AT

(3) YE-HA

(4) HHIE

fegwrl mE F  fg, d@lG ed
FFFRH JTERR-2017 &7 90 &
(1) e @i

(2) I B

(3) ST9TT e

(4) 7= dy

ol ‘ARl gE sl @

(1) ZHAE - Hexdl

(2) fodarer - s

(3) e - Feiaw
(4) @9l - wUE

sy & e &1 /A o 7

(1) SEEY
(2) TI=AY
(3) U=
O BESESIR]
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95.

96.

97.

98.

99.

What is correct sequence of Taal' in the
increasing order of beats ?

(1) Shasti, Jhampak, Rupakada,
Navpanch

(2) Jhampak, Shasti, Rupakada,
Navpanch

(3) Rupakada, Shasti, Navpanch,
Jhampak

(4) Navpanch, Rupakada, Jhampak,
Shasti

Which is not a 'Odhav-Sampurna' Jati
Rag ?

(1) Asawari

(2) Bhimpalasi

(3) Shuddha Kalyan

(4) Kamod

Selected for Sangeet Natak Academy
Award-2017 for Hindustani Vocal is :

(1) Rashid Khan

(2) Koushiki Chakraborty
(3) Ajay Pohankar

(4) Gundecha Brothers

Which pair of Tal has open '‘Bols' ?
(1) Iktal - Keharwa

(2) Tilwada - Deepchandi

(3) Teevra - Sooltal

(4) Khemta - Rupak

What
name ?
(1) Dwarikanath
(2) Devendranath
(3) Deependranath
(4) Dwijendranath

was Rabindranath's father's



100.

101.

102.

103.

104.

s fhe o | Teiad o 7

(1) T (2) faooqyge
(3) et (4) Hardr
e are & a1 a% THeT o BT § 7
(1) =% (2) T

(3) =M (4) K

‘gea-|Yer ST H W AL B
(1) SHYE - =

() @ - g
(3) FHI - FSMT
(4) BN - TFHR

qag difor ofell omE &N fifed e
2

(1) HNG=TEIE, HHid-41

(2) &=, AT

(3) I a9, Tead

(4) TS, TEH-AR

TE-Rr’ Sifedl 1 e HifT

A A= HE @i R o @
B. Hgdlh ol @ ii. H @i
C. @I Sl 98 il SR Ud
D. e J4E  iv. T 9EE
% -
A B C D
(i i i v
@ i i iv i
3)ii i i v
@) ii i iv i

Level-3/4319

100.

101.

102.

103.

104.

[A]

Ravindranath was influenced by which

Gharana ?

(1) Kirana (2) Vishnupur

(3) Gwalior (4) Mewati

Which instrument has two sides
leather ?

(1) Duff (2) Nagara

(3) Tasha (4) Dhol

Pair of 'Shadhav-Sampurna' Jati Rag is :
(1) Jaunpuri - Khamaj

(2) Bhairvi - Bhairav

(3) Kafi- Adana

(4) Kedar - Deskar

The Books written by Nawab Wajid Ali
Shah are :

(1) Marifunnagmat, Sangeet-Saar
(2) Banno, Nazo
(3) Nritya Pravesh, Natwari

(4) Rasgunjan, Sargam-Saar

Match the following 'Guru-Shishya' :
A. Abdul Karim Khan i. Ashik Ali Khan
B. Mushtaq Ali Khan ii. Kale Khan
C. Wajid Ali Shah iii. Thakur Prasad

D. Ayodhya Prasad iv. Gaya Prasad

Code :

A B C D
(1) i i iii v
2) i i iv iii
3) i i iii v
@ i i iv iii

P.T.O.



[A]

105.

106.

107.

108.

100.

110.

“Hlo Hio &R0 o’ & Jewd Fel ¢ !
(1) T fawett (2) g
(3) A (4) A

B ‘THEREN N # Woa § T8
g7

(1) faama @t

(2) SR @i

(3) T =

(4) AT @l

T EREed g Tad de STt
fepa w7

(1) 19554
(3) 1895 #

(2) 1935 ¥
(4) 1875 #

FIH & TG TH H GEUF & -

(1) =T

(2) [HEEN Fer
(3) @It 3Tl 9B
(4) T TR T

Jo qqEe fFd STM ¥ 78 I o
g7

(1) =R dfed

(2) UoET

(3) e
4) HIHR

g a@ & 3% § ‘ar 99 WgE 7a
2 ?

(1) feraret
(3) AU

(2) TR
(4) e
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105.

106.

107.

108.

109.

110.

The headquarters of 'CCRT"is in :
(1) New Delhi (2) Mumbai
(3) Bhopal (4) Kolkata

Who 1is mot in the tradition of

'Imdadkhani Gharana' ?
(1) Vilayat Khan

(2) Allarakha Khan
(3) Inayat Khan

(4) Imrat Khan

The first Hariballabh Sangeet Sammelan

was held in :
(1) 1955 (2) 1935
(3) 1895 4) 1875

The founder of Raigarh Gharana of
Kathak was :

(1) Gopikrishna

(2) Bindadin Maharaj

(3) Wajid Ali Shah

(4) Raja Chakradhar Singh

Pt. Bhatkhande is not known by the pen
name :

(1) Chatur Pandit

(2) Pranavrang

(3) Vishnu Sharma

(4) Manjrikar

In which Theka of Tal the 'Dha' word is

not used ?
(1) Tilwada
(3) Jhaptal

(2) Dhamar
(4) Teevra



111.

112.

113.

114.

115.

[ g - &, 95,9 T99 S
q

(1) Ul

(2) IEHR

(3) I& FA

@) Esm

@ 9 Yed AM-aM oTdM, Sfeer #
T wd foRrE wAm, A & ek qen
L I 3§

(1) 9IferEy g3
(2) gfedrer 8=

(3) YR =R
(4) STFRT ST

R T Fell "G & HEAUS o

(1) T

(2) [HEREM 7erm
(3) AT yOE
(4) ®S HBS

FIT 0 A, GG TEE G § AiE’

TF TR
B. ‘Hig’, ORI & TH dlh

T Al B

@& ST A

(1) #ad AHE 2|

(2) Bad BT B |

(3) AT B aHi @2 &1

(4) AT B I T 2 |

g
(1) (2) fewlt
(3) SR (4) TETH
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111.

112.

113.

115.

[A]

Identify the Raga — Sa, Dha S, Pa, Ga
PaDhasS Sa :

(1) Bhupali
(2) Deskar
(3) Shuddh Kalyan
(4) Hindol

Nom-Tom Alap before Khayal, using
Laykari and Tihai in bandish, also Hori
and Thumri singing reflect :

(1) Gwalior Gharana
(2) Patiala Gharana
(3) Jaipur Gharana
(4) Agra Gharana

Who was the founder of 'Nateshwar
Nritya Kala Mandir' ?

(1) Gopikrishna

(2) Bindadin Maharaj
(3) Ayodhya Prasad
(4) Kanthe Maharaj

114. Statement : A. 'Maand' is a rag in

Indian classical music.
B. Maand' is a folk singing
style of Rajasthan.
Choose the correct answer :
(1) Only A is correct.
(2) Only B is correct.
(3) A and B both are correct.
(4) A and B both are wrong.

"Tansen Music Festival' is organized at :

(1) Gwalior
(3) Jaipur

(2) Delhi
(4) Lucknow

P.T.O.
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116. f6H qqe 9 U 9 e ge Hl 116. In which group the Rag belongs to more
g7 than one Thaat ?
(1) Tom, 38R (1) Bihag, Deskar
(2) AT, Fﬁﬂg’ﬁ (2) Bhimpalasi, Jaunpuri
3) @M, e (3) Kamod, Hindol
(4) EM, ASHT (4) Darbari, Adana
117. 68 e &l & dre e R 7 117. The main instrument of which
community is the 'Been' ?
(1) #rat (2) Fu (1) Mali (2) Sapera
(3) se 4) SER (3) Jat (4) Ahir
118, ‘STerlo arer @ 3ot Ja 118. Find the category of 'Algoja':
() aq (2) A= (1) Tat (2) Avnaddh
3) g (4) = (3) Sushir (4) Ghan
119, ‘GUA-UIRERI & GEA9E qA HUGEH 119. Who was the founder and editor of
B g7 ‘Sangeet Prakashika' ?
(1) T=Y (1) Satyendranath
(2) Feed (2) Indiradevi
(3) A=A (3) Jyotirindranath
O RESESIP (4) Dwijendranath
120. ‘GG 9 AWE GG fGEd @l e 120. Who founded the 'Sangeet-Sangh', a
fpee & 7 music school ?
(1) QST ufeqe ey (1) Lady Pratibha Choudhary
(2) Frir=sry (2) Girindranath
(3) Sfo FHeAMNl Hicrh (3) Dr. Kalyani Mallik
4) eH=Y (4) Hemendranath
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121.

122.

123.

124.

HIT ¢ A, JIERT | A6 & a HE-3Ted
qar oFEd & I (Al

g
B. @ ™ ¥ A© & U=

Wa-ge, oA, e, SHoged
T FEH B TG B |

78 I G

(1) Pad A TEl 2|

(2) Fad BT & |

(3) ATa B I T2 |
(4 AT B 3T £ |

JIRT % FGHN fapd @ Hl e
g7
(15
3) 12

HI g3 & @/ &g S o &

2) 7
4) 22

(1) ¥fo 3o I
(2) fomg =% g
(3) TRl THIHT
(4) AN G

gafd it

A e O Rie i wXaEeEm
B. UE gEECA i gRgdl
C. Iy HIREY iii. FAfSH

D. #rege T 1v. t@]ﬂ'ﬁ
%< -
A B C D
(D iv 1 ii iii
(2) i1 iv i ii
3) i 1 ii v
4 iv 1 i iii
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121.

122.

123.

124.

[A]

Statement : A. Sharangdev has
mentioned two types of
Naad-Aahat and Anahat.

B. Five types of Naad-Pust,

Apust, Sukshm,
Atisukshm, and Kritrim
are mentioned in Sangeet
Ratnakar.

Choose the correct answer :

(1) Only A is correct.

(2) Only B is correct.

(3) A and B both are correct.

(4) A and B both are wrong.

According to Sharangdev - the number
of Vikrit Swaras are :

(1) 5 2) 7

3) 12 4) 22

Who is known for the development of
Chorus singing ?

(I) B.R. Deodhar

(2) Vinay Chandra Mudgal

(3) Kishori Amonkar

(4) Parveen Sultana

Match the following :

A. Guru Bipin Singh i. Bharatnatyam

B. Padma Subramaniyam ii. Kuchipudi

C. Vedantam Satyanarayan iii. Odissi

D. Madhvi Mudgal iv. Manipuri

Code :

A B C D
(1) iv i il iii
(2) il iv i i
3) iii i il iv
@ iv 1 i iii

P.T.O.
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125.

126.

127.

128.

129.

130.

auyY & ‘e g AR @ Iq~ T
e 2
() T, 9
3 T &

Q) R, 9

@ g, =

5 A | I =7 = R G ore 1 e [
g7

(1) g=&

(3) dme

(2) d™
(4)

B9 T fabed 7T © 7
(1) & d 964E — 19 STadR
(2) g g9 - 30 SFFR

(3) I — 33 IFAHR

(4) gERel — 63 IFWER

AT T G H UgE aE T8
g7

(1) AR

(2) g

(3) g&™

(4) HIT

SICRRIEC I I | B SR R A MR
GIC A

(1) e 2) FI

(3) Hied (4) BIT=D

Jo AES & HIEAR T = W 4
fore @ @ IafT 2 ?

(1) 9§ (2) 9

(3) HBI 4) 9nid
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125.

126.

127.

128.

129.

130.

The Harmonics generated from 'Madhya

Shadaj' wire of Tanpura are :
(1) Ga, Pa (2) Re, Dha
(3) Ga,Ni (4) Dha, Ni

The sequence of 'Nastt' and 'Uddist' are

related with :
(I) Moorchhana (2) Taan
(3) Thaat (4) Taal

Which one is a wrong option ?

(1) Sangeet Makrand — 19 Alankar
(2) Vayu Puran — 30 Alankar

(3) Natyashastra — 33 Alankar

(4) Brihaddeshi — 63 Alankar

The

accompaniment in Bharatnatyam :
(1) Sitar

(2) Violin

(3) Mridangam

(4) Manjira

instrument not  used as

The name of orchestra director in

Natyashastra is :
(1) Kushilav
(3) Kohal

(2) Kutup
(4) Kolambak

According to Pt. Bhatkhande - which
'Rasa’ can generate from 'Re-Dha'
Shuddha Raga ?
(1) Shringar

(3) Karun

(2) Veer
(4) Shaant



131.

132.

133.

134.

135.

g e & oFER i g i
2

M 3,
@
(3) T,
@) T

g HEA
g s

M @
g HId

MYFE Y WX FRAT F ATAR HeAH
[T F g ©

(1) ¥or, e, A, we

(2) T, s, s, g

(3) dafor, wriRedl, difer, At

(4) faifer, ek, GO, ST

foiferd, @eA QU g9 W & AER o
%l TS F FE FH E

(1) rET, I, USThR
(2) I, U, HIFE
(3) USTHR, I, @l
(4) USRI, I, HFE

‘TqrE’ T ‘AN fFHS YER B 7
(1) H3ife (2) aigd
(3) R (4) amEfes

TR Feel & - 96, 93, sga
TN FHeawd HA F BE-9 W qIW
g7

(1) =i, &7

(2) 3@, TEq

(3) fESm, dus

(4) UH, b
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131.

132.

133.

134.

135.

[A]

According to Time-theory - the 'Sandhi-

Prakash' category is :
(1) Re-Dha Flat
(2) Re-Dha Shuddh
(3) Ga-Ni Flat

(4) Ga-Dha Flat

According to modern swar-shruti system,
the shruties of Madhyam Swar are :

(1) Ranjni, Ratika, Roudri, Krodha
(2) Roudri, Krodha, Prasarini, Priti
(3) Vajrika, Prasarini, Priti, Marjni
(4) Kshiti, Rakta, Sandipni, Alapini

The correct order of Tabla composition
according to Vilambit, Madhya and
Drut Laya :

(1) Kayda, Rela, Peshkar
(2) Rela, Peshkar, Kayda
(3) Peshkar, Kayda, Rela
(4) Peshkar, Rela, Kayda

'Hawain' and 'Spanish' are the types of :
(1) Mandolin (2) Flute
(3) Guitar (4) Violin

Which Raga are common in - Shiv,
Bharat, Hanuman and Kallinath sects of
Rag-Ragini system ?

(1) Shree, Megh

(2) Bhairav, Basant

(3) Hindol, Deepak

(4) Pancham, Malkouns

P.T.O.



[A]

136.

137.

138.

139.

140.

141.

142.

Ao ABo o Yargal FR URH fHa
T o THo TZTHA & ¢

OREIES] (2) |frgd
(3) Ffgel (4) @BE

Terg 7w H 999 @) T

(1) =g 2) Py
3) fagfas (4) wegfaw

TR T P H fhan e (Tee)
g7

(1) &
(3)

) [
(4) oo

Ty @ I fRE N 9 "3 ST
g7

(1) g=1 (2) o=

(3) M 4) T

(1) =i (2) S
(3) TR (4) A

T % U G 9S8 @ YA R
fpar ?

OREEES] (2) =

(3) THET (4) EMEEY

AR T HRECT IO FA A
A Pl UISRTT & H HEW BN W, Y
T FeEr @
(1) ey
(3) ST

(2) TEFR
(4) STeaREY
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136.

137.

138.

139.

140.

141.

142.

IIT Bhubaneswar has started the B. Tech.

course in :
(1) Odissi
(3) Kuchipudi

(2) Manipuri
(4) Satriya

The Dhaivat Swar of Madhyam Gram
is:

(1) Chatushrutik (2) Trishrutik
(3) Dwishrutik  (4) Shatshrutik

How many chapters (Prakran) are there
in 'Swar mel Kalanidhi' ?

(I) Two (2) Five
(3) Seven (4) Eight

The origin of "Tappa' is considered by
which 'Giti' ?
(1) Shuddha
(3) Goudi

(2) Bhinna
(4) Vesra

'Sama, Stotrogata, Gopuchha are the

types of :
(1) Yati (2) Jati
(3) Kiriya (4) Marg

Who has used the word 'Sansthan' for
‘Mel' ?

(1) Ahobal

(3) Ramamatya

(2) Lochan
(4) Damodar

The first performance on the completion
of formal Dance training or be able to
give training to others is called :

(1) Alaripu

(3) Arangetram

(2) Natuvanar

(4) Natyachitram



143.

144.

145.

146.

147.

HIT A WX H TE I OH O
TEr® Bl 2 |

B. gfq d @ w9 § Lorehar
METH el B

& T T

(1) Adar B 2T d&r & |
(2) Fad BHE 2|

(3) Pad A TE 2|

(4) AT B T B

P o e Refer % e W HaR

& T Hepeaq @ © ¢

(1) feereat (2) |

(3) ESA (4) TR
FAlg-gdo & FPER - HG & IR
feree B B8

(1) s=m (2) favq

(3) vE@ (4) RE

‘AT A F e B A HINT
(1) S, JEU

(2) i, arfen, difa®, e’

(3) fdg, wnfw, e, @

@) T, wr, I, e

i1 @@ aes Bifen :
(1) dlo Sffo ST

(2) ST HERT
(3) Elo Fo FER
(4) To Y
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[A]

143. Statement : A. Shruti is helpful in
making the  Swar
effective.

B. Shruti does not
necessarily have

144.

145.

146.

147.

'Ranjakta’ independently.
Choose the correct answer :
ey
2)
3)
“)

A and B both are correct.
Only B is correct.
Only A is correct.
A and B both are wrong.

On
position, the closest instrument of the

the basis of shape and playing

Sitar is :
(1) Dilruba (2) Sarangi
(3) Israj (4) Surbahar

According to 'Sangeet-Darpan’, music
originated from :
(1) Brahma
(3) Shiv

(2) Vishnu
(4) Narad

Find the group of 'Vyabhichari Bhaav' :
(1) Aalamban, Uddipan

(2) Aangik, Vachik, Satvik, Aaharya
(3) Nirved, Glani, Chinta, Garv

(4) Rati, Krodh, Jugupsa, Vismay

Find the different instrumentist :
(1) V.G.Jog
(2) Brij Bhushan Kabra
(3) D. K. Datar
(4) N. Rajam
P.T.O.



[A]

148.

149.

150.

T 9% JIHR HF I 7
(1) %S HE=

(2) Y TETA

(3) [ Her™

(4) T "R

‘SR’ qEm A’ fhae 98 §
(1) g

(2) 9l

(3) HYH B&IH

(4) -

JIERT | T =X & U e a=
ST 1 TN R © 7

(1) =

2 @ H

(3) W Td T

(4) &, 7T 9

[30]

148.

149.

150.

Which one was a great Kathak Dancer ?
(1) Kanthe Maharaj

(2) Shambhu Maharaj

(3) Kishan Maharaj

(4) Gudai Maharaj

'Angik' and "Vachik' are the types of :
(1) Abhinaya

(2) Bhramri

(3) Samyukt Hastak

(4) Gat-Nikaas

The term 'Achyut’ was used by

Sharangdev for which Swara ?
(1) Sa

(2) Saand Ma

(3) Saand Pa

(4) Sa, Ma and Pa

Level-3/4319



OR & @
Ife T A SIET Wl Bl MR T & Al 3BT SR Tod
HHET ST |

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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